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359 Accelerating turntable

A turntable (circular disk with an axle perpendicular to the disk through its center) initially

rotates counterclockwise about the axle at 180 rpm (revolutions per minute) and subsequently
speeds up at a constant rate, reaching 900 rpm 4.0s later.

a) Convert the initial and final angular velocities into units of rad /s.

b) Determine the angular acceleration of the turntable in rad/s.

¢) Determine angular displacement of any point on the turntable during this 4.0s period.
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